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I8 a1 Aifd (NYP-2014) HRART 2014 H $IRH P11 & O HRd & garsil & Y U §HY gRaxil Wara 3l 6 174% & garsil ol
ST G &l ST FUANT SR & [T T&H §MT SR 3% GRI HRd DI AP & GEE H U1 Siod R UIE S H Gai g4
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1:52.7%
2:31.7%
3. 20.9%
4. 10.8%
Options :
485584109277. 1
485584109278. 2

485584109279. 3
485584109280. 4
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Group Marks : 250
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Question Number : 151 Question Id : 48558426451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Tn a school, ratio of number of boys to that of girls was 6:5. In the next year, number of bovs increased by 20% and number of eirls
increased by 10% resulting in an increase of 119 students in the school. How many students were there in the school initially?

1. 680
2. 750
3.770
4,780

Options :

485584105801. 1
485584105802. 2
485584105803. 3
485584105804. 4

Question Number : 151 Question Id : 48558426451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[l ¥ T Aol g TSIl &I W BT SUTd 6:5 UT| ST aY, TSHI DI TS H 20% I1G 55 AU asibdl &1 G= 1 10% e
% o URUMHRa=T ®pal § 110 B 96 U R™ ¥ 3pd 1 fda- o B2

1. 680

2.750

. 770

LS

4. 780

Options :

485584105801. 1
485584105802. 2
485584105803. 3
485584105804. 4

Question Number : 152 Question Id : 48558426452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

If Anil's salary is 20% less than that of Rama, then by what percent is Rama's salary more than that of Anil?
1.20%

2. 25%

4. 30%

Options :




485584105805. 1
485584105806. 2
485584105807. 3
485584105808. 4

Question Number : 152 Question Id : 48558426452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

gfe fHa BT I IAT BT 3T T 20% HH ©, A1 IH B W fd BT ama F fava= wiawd afis g2
1.20%

2

=
h
]
=)

L
—
L
-2
(=)

4. 30%

Options :

485584105805.
485584105806.
485584105807.
485584105808.

B S

Question Number : 153 Question Id : 48558426453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

5
A shopkeeper sold _{1 of his stock of rice at a profit of 5% and the remaining stock at a loss of 2%. If his total profit was ¥1000, then the

cost price of the whole stock of rice is:

1. 324,800

[

. 32,600
3.%37.500
4. 48,000

Options :

485584105809. 1
485584105810. 2
485584105811.3
485584105812. 4

Question Number : 153 Question Id : 48558426453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




U% gHIFER A 37 F1ae HSR & GI-fdeTe U &1 5% 1Y U= &1 auT A §2 §U HSR 31 2% 81 IR 94 faan) afs 3ue $a
21000 TI1Y WIS 5341 dl F1ael & G2 HSR P15y Yol FId DR |

1. 324,800
2.%32,600
3. %37,500
4,348,000

Options :

485584105809. 1
485584105810. 2
485584105811. 3
485584105812. 4

Question Number : 154 Question Id : 48558426454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The value of a car depreciates every vear by 10%. What will be its value after 3 years if its present value is $6.25.000?
1. %4,50,000
2. %4.52.250
3. %4,55.625
4. %4,62.500

Options :

485584105813. 1
485584105814.2
485584105815. 3
485584105816. 4

Question Number : 154 Question Id : 48558426454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el FR &1 Ul a9 10% A 81 Sld § | 4% 39S adqH Jod 26.25,000 § o1 3 a9 & &lg $9®1 Jed &1 eI

1. %4.50.000

ra

.%4,52,250
3.%4,55.625
4. %4,62.500

Options :

485584105813. 1
485584105814 2
485584105815. 3
485584105816. 4



Question Number : 155 Question Id : 48558426455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In how many vears a sum placed on compound interest becomes 8 times of itself, if it becomes twice in 6 years?

1.20

b

.18
3.15
4.12

Options :

485584105817. 1
485584105818. 2
485584105819. 3
485584105820. 4

Question Number : 155 Question Id : 48558426455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Ahals SATS IR Bl 1 6 I8 1 &l A1 8l oficll § ol 9g fava asi & ¢ A1 81 ot
1.20
2.18

.15

LF¥)

4.12

Options :

485584105817. 1
485584105818. 2
485584105819. 3
485584105820. 4

Question Number : 156 Question Id : 48558426456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The ratio between length and breadth of a rectangle is 3:2. If area of the rectangle is 96 em?, then length of the rectangle is
l.6em
2. 12¢em
3.8cm
4. 16em
Options :

485584105821. 1
485584105822. 2



485584105823. 3
485584105824. 4

Question Number : 156 Question Id : 48558426456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el Sad &1 TraTs auT dISTs B SFTd 3:2 T | O1S 59 310d &1 859%d 96 cm? 8. 1 59 310d I T8 J1d B |
l.6¢cm
2.12em

.8cm

LS

4. 16 cm

Options :

485584105821. 1
485584105822.2
485584105823. 3
485584105824. 4

Question Number : 157 Question Id : 48558426457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If two squares X and Y have each side of 10 m and 20 m respectively. then the side of the square Z whose area iz equal to the sum of the
areas of square X and square Y is:

1 ](}\Em

3]

1082 m
3 ](Nr?m
4. ]0»‘?11’!

Options :

485584105825. 1
485584105826.2
485584105827. 3
485584105828. 4

Question Number : 157 Question Id : 48558426457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




afe g1 1 X U1 Y B YD Yol HHL: 10 m TUT 20 m Ta 5, 0 I 2 FORIeT 83%d X 991 Y a7l & gapdl & a7 & aRIe §, Bl
S I TS ol g

1-]0\5111

10v2m

k2

Taa

. ](NFm
4. IO\Em

Options :

485584105825. 1
485584105826. 2
485584105827. 3
485584105828. 4

Question Number : 158 Question Id : 48558426458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

IfA (2.3). B(2,4) C(4.9) and D (x.8) are the vertices of a parallelogram ABCD, then find the value of x.

1.8

b

.18

4.4

Options :

485584105829. 1
485584105830. 2
485584105831. 3
485584105832. 4

Question Number : 158 Question Id : 48558426458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

afe fodh gaiar 9 ABCD & 28 A (2.3), B(2.4) C(4.9) TUID (x,8) &, T x T HIH J1d B |
1.8

2.16

L)
(¥ ]

4.4

Options :

485584105829. 1
485584105830. 2
485584105831. 3
485584105832. 4



Question Number : 159 Question Id : 48558426459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Mean, Median and Mode of a data are related by the relation
1. 3 Mode — 2 Median = Mean
2. 3 Mean — 2 Mode = Median

. 3 Median — 2 Mode = Mean

L]

4. 3 Median — 2 Mean = Mode

Options :

485584105833. 1
485584105834. 2
485584105835. 3
485584105836. 4

Question Number : 159 Question Id : 48558426459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

st & Hren, TfereT Ul gga® § U GeY S e?
1. 3 99 - 2 HIfEP1 = H1eh
2.3 Uk - 2 9g0 = HIEp]
3. 3 HIfHI- 2 950 = T
4. 3 TIET - 2 W1 = SAD

Options :

485584105833. 1
485584105834. 2
485584105835. 3
485584105836. 4

Question Number : 160 Question Id : 48558426460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Three dice are thrown. The probability of getting a sum of numbers which is a perfect cube. is:

[E9]

I
6
1
8
5
36
7
72

Options :

485584105837. 1
485584105838. 2
485584105839. 3
485584105840. 4

Question Number : 160 Question Id : 48558426460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ofF U the 11| T sl & vt gl B B9 &1 Wifiddn a1 ghi

£

- %) fore) e
HSlw 2| ®l= ol

Options :

485584105837. 1
485584105838.2
485584105839. 3
485584105840. 4

Question Number : 161 Question Id : 48558426461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




1f the average of 15, 25, 19, 20, 23, 18 and (x — 3) is 20, then Find the average of x. (x + 6), (2x — 1) and 23.

1.20

4. 30

Options :

485584105841. 1
485584105842. 2
485584105843. 3
485584105844. 4

Question Number : 161 Question Id : 48558426461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tfe 15, 25. 19, 20, 23, 18 TUT (x — 3) BT A 20 1 AT x, (x + 6), (2x — 1) TUT 23 T 3 F1d B

[ B
J
|

Lo

4. 30

Options :

485584105841. 1
485584105842. 2
485584105843.3
485584105844. 4

Question Number : 162 Question Id : 48558426462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The average of a positive number, its square and 3 is 5. Find the number.

1.2

b
L)

4.4

Options :

485584105845 1
485584105846. 2
485584105847. 3
485584105848. 4

Question Number : 162 Question Id : 48558426462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
f (a1

T YFTe e =T, 39% a7 Ul 3 T 319d 5 &1 df 98 = J1d 11

1.2

b
L7

LS
[

4.4

Options :

485584105845. 1
485584105846. 2
485584105847. 3
485584105848. 4

Question Number : 163 Question Id : 48558426463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If cos 66 = sin 36, then the value of 8 is;

1.8

(=
iy
3]

0

Options :

485584105849. 1
485584105850. 2
485584105851. 3
485584105852. 4

Question Number : 163 Question Id : 48558426463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e cos 68 = sin 36 €. A1 6 BT A @41 82
1.0°

2 128

LF¥)
ol
=

5]

4.6°

Options :

485584105849. 1
485584105850. 2
485584105851. 3
485584105852. 4



Question Number : 164 Question Id : 48558426464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A solid hemisphere of radius 24 cm is melted and identical cones each of base radius 8 cm and height 6 cm are formed. How many such
cones are formed?

1.144

[ ]

.96

4.24

Options :

485584105853. 1
485584105854. 2
485584105855 3
485584105856. 4

Question Number : 164 Question Id : 48558426464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TSP B ST, [or®! 3501 24 e §.91 [UGTAIDR & SMURIT B8 cm YT GG 6 cm ATA GAM WP S0 T 58 UHR &4 X3l
@1 T d B

1. 144
2.96

72

LS

4. 24

Options :

485584105853. 1
485584105854 2
485584105855. 3
485584105856. 4

Question Number : 165 Question Id : 48558426465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A and B can do a work in 10 days and 15 days respectively. They worked together for 5 days, then B left the work and A alone did the
remaining work. The whole work got completed in:

1 62 days
3
2.7 days

3. 7lday3
2]

4.6 L days
2

Options :

485584105857. 1
485584105858.2
485584105859. 3
485584105860. 4

Question Number : 165 Question Id : 48558426465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

AT B fd B B TR 109U 15 T F W aR Iod ©1 3% 5 o e ol fovan oik fer B 3 ord ofs fBan orR
3P A5 ! 9 U DK B G¥1 | d 1 B fbad 11 5 e gei

1.&%@7{

2.7
39l e

2
4.6%%?

Options :

485584105857. 1
485584105858. 2
485584105859. 3
485584105860. 4

Question Number : 166 Question Id : 48558426466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A 180 m long train crosses a man standing on the platform in 6 seconds. What is the speed of the train?
1. 90 km/h

2.108 km'h

LF5]

120 km'h
4. 88 kim'h

Options :
485584105861. 1



485584105862. 2
485584105863. 3
485584105864. 4

Question Number : 166 Question Id : 48558426466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

180 HY. G U Y@TTS], WewhiH IR Ws fhdt oufdd &1 3R 6 Ods & uR &3dl ¢ 1 a1 sl &t nfd @ gl
1. 90 fepeit. et

. 108 fereit et

120 fepeit et

4. 88 fopdil der

Options :

485584105861. 1
485584105862. 2
485584105863. 3
485584105864. 4

)

L]

Question Number : 167 Question Id : 48558426467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Sourav completes a journey in SEI hours. If he covers half of the distance at 5 km/h and the remaining distance at 6 km'h. then find the

total distance covered by him.
1. 30 km
2.35km
3.33km

4. 39 km

Options :

485584105865. 1
485584105866. 2
485584105867. 3
485584105868. 4

Question Number : 167 Question Id : 48558426467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




ﬁﬁaqﬁTmﬂaﬁS%ﬁﬁﬁﬁ@ﬂ@?ﬂ%lmﬁag3mﬁ§ﬁ5ﬁmﬁﬁﬁ%$Tﬁﬁﬁﬂﬂﬁﬁm%fﬂﬂﬁﬁﬁﬁﬁ§§§ﬁaﬁ6ﬁﬁﬂ“ﬁéﬁﬁ
T ¥ TG Sl 8, A1 9 DI TS P gl J1d DR
1. 30 ool
2. 35 ol
3. 33 Tl
4. 39 T,
Options :
485584105865. 1
485584105866. 2

485584105867. 3
485584105868. 4

Question Number : 168 Question Id : 48558426468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Simplify the following

(3+7)x2-4 L 3+T%2-5
(3+7)x(2-4) 3+7x(2-5)

1.2

]
u.i (=

Options :

485584105869. 1
485584105870. 2
485584105871. 3
485584105872. 4

Question Number : 168 Question Id : 48558426468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




WA Te

(3+?}><2—4 N 3+Tx2-5
(3+7)x[2—4} 3+7x(2-5)

1.2

[
|
|

Options :

485584105869.
485584105870.
485584105871.
485584105872.

W N =

Question Number : 169 Question Id : 48558426469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following statements are true for rectangles?

A. All interior angles are right angles.

B. Diagonals are perpendicular to each other.
C. Diagonals are equal.

D. Opposite angles are supplementary

Choose the correct answer from the options given below:
1. Aand B only
2. Aand Conly
3.A Band Conly

4. A CandD only

Options :

485584105873. 1
485584105874 2
485584105875. 3
485584105876. 4

Question Number : 169 Question Id : 48558426469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




IO i g T i e i T

At 3d. B0 S B B
B.[@V @ g RaE s ¢l
c. Gl e ea Bl

D. T B0 IR 8ld ¢
+ite fag T foaedl & 9 Hel SR &1 997 Doy
1. Had A 3R B
2. FTAASRC
3. PIAA. B IR C
4. FFAA, C 3RD

Options :

485584105873. 1
485584105874. 2
485584105875. 3
485584105876. 4

Question Number : 170 Question Id : 48558426470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which term of the AP. 3, 7, 11, ...... 147 is its middle term?
LA

1ot

(=

3. 20t
4.21%

Options :

485584105877. 1
485584105878. 2
485584105879. 3
485584105880. 4

Question Number : 170 Question Id : 48558426470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

TR 4813, 7, 11, ..., 147 BT HH IS B T 22

1.18dl

[ 2]

i X1
3.204dl

42140



Options :

485584105877. 1
485584105878. 2
485584105879. 3
485584105880. 4

Question Number : 171 Question Id : 48558426471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which iz the only metal that is Liquid at room Temperature?
1. Bromine
2. Mercury
3. Tungsten

4, Gallium

Options :

485584105881. 1
485584105882. 2
485584105883. 3
485584105884. 4

Question Number : 171 Question Id : 48558426471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Uit 1 Tt THHT U1 & S W dIIEH IR R ST § g 82
1. S

ORI

[

i3
4. 7Ty

Options :

485584105881. 1
485584105882.2
485584105883. 3
485584105884. 4

Question Number : 172 Question Id : 48558426472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who is the winner of UNESCO peace Prize 20227

1. Volodymyr Zelenskyy

(2=

. Tadashi Hattori
3. Swati Piramal
4. Angela Merkel

Options :

485584105885. 1
485584105886. 2
485584105887. 3
485584105888. 4

Question Number : 172 Question Id : 48558426472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

D! M1 GREPR 2022 1 faoidr & &2
1. ATEHR Sieep!
BRI R
3. Tl URHe
4. TSie Havd
Options :
485584105885. 1
485584105886. 2

485584105887. 3
485584105888. 4

[ 2]

Question Number : 173 Question Id : 48558426473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII

Name of Prime Ministers Tenure
A [Shri. Inder Kumar Gujral I |1964-1966
B. Morarji Desai 11 |1998-2004
C. |Atal Bihan Vajpayee II1.|1977-1979
D. |Lal Bahadur Shastri IV, [1997-1998

Choose the most appropriate answer from the options given below:
1. A-IIL, B-II. C-I, D-IV
2. A-IL, B-I, C-1II D-IV
3. AL B-IIL C-IV, D-IIT

4. A-IV, B-III, C-11, D-I



Options :

485584105889. 1
485584105890. 2
485584105891. 3
485584105892. 4

Question Number : 173 Question Id : 48558426473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

=i 1 %1 gl 11 ¥ o S

N T
S SRPHR ToRId | L [1964-1966
ARGl cdTg 11 [1998-2004

31od 8N arergd)| L. [1977-1979
o1t S8Tee Tl | I [1997-1998

Frafoiad fowedl & 9 98! 3Tk &1 994 S

1. A-IIL B-IL. C-L. D-IV

ol ol =] b

2. A-IL B-1, C-IIL D-IV

.A-TL B-IIL C-IV, D-III

LS

4. A-IV, B-III, C-II, D-I

Options :

485584105889. 1
485584105890. 2
485584105891. 3
485584105892. 4

Question Number : 174 Question Id : 48558426474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T with List II

LISTI LISTII
Device Purpose
A Microphone 1. |Used in vehicles to measure distance
N LT — o qu measurmg the force and velocity of
jwind

Converts sound waves to electrical

C. |Odometer I | . ;
vibrations

D. Anemometer | IV Measures intensity of sound

Choose the most appropriate answer from the options given below:
1. A-IV, B-TIL, C-II, D-I
2. A-IIL, B-IV, C-I, D-II
3. A-L, B-ITL, C-TT, DIV
4. A-IL, B-IIL, C-IV, D-I

Options :



485584105893. 1
485584105894. 2
485584105895. 3
485584105896. 4

Question Number : 174 Question Id : 48558426474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

=i 1 %1 g4l 11 9 e Sifeg

T I T I
—— T8+ | g1 A0 o fe7q SUaRT H ol

A BEIGIE

B. promard | 11, [arg ob o el 471 o A0 o g
I gﬁma?ﬁaﬁa@amﬁqﬁaﬁﬁw
D. [qerdmamdt | 1v [l & digdr & 99 & e

Faferad f[deedl O 3 98l 3TR P 997 HIo ;

1. A-IV, B-III, C-II, D-I

k3

. AL B-IV, C-1, D-II

LF¥]

. A1, B-IIL, CAI1, DIV
4. A-II, B-IIL, C-IV, D-1

Options :

485584105893. 1
485584105894 2
485584105895. 3
485584105896. 4

Question Number : 175 Question Id : 48558426475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Consider the following statements:
A, Antigen A and antibody 'a’, Antigen 'B' and antibody 'b’ cannot live together.
B. Blood group 'O’ is called universal Donor.
C. Blood group 'AB' is called Universal Receptor.
D. At the time of Blood transfusion RH-factor is also tested.
E. Main function of blood platelets is to protect the body from the disease.
Choose the most appropriate answer from the options given below:
1.B,C.D and E only
2.A,B, Cand D only
3. Aand B only
4. C,D and E only

Options :
485584105897. 1



485584105898. 2
485584105899. 3
485584105900. 4

Question Number : 175 Question Id : 48558426475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprchension MCQ
Pyt oI ug
A, Ufdo A qui ufaRelt o, ufaeq B dut uforel v Ty =81 X8 94|
B. 39d 98 '0' 3! Y a1 Hed o

C. 390 T 'AB' B A el Fed ¢
D. 3G 1Y & JHY RE-BRS BT a1 o frar srar g |
E. 39q UfE@1af o1 o IR &1 A7 § =T g

= feu U f9seul § 9 9ad SUgad 9ok o1 90 BifeIU:
1.¥Gd B, C,D AR E

PTG A, B.CIHRD

3. $dd A 3B

43T C, D IARE

btJ

Options :

485584105897. 1
485584105898.2
485584105899. 3
485584105900. 4

Question Number : 176 Question Id : 48558426476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Simon commission came to India in 2

(2=
—
=)
[ Se]

-1

4. 1930

Options :

485584105901.
485584105902.
485584105903.
485584105904.

B WD~

Question Number : 176 Question Id : 48558426476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




AT HHIYE YR H $F AT

1. 1925

| B

: 1927
3.1923
4.1930

Options :

485584105901. 1
485584105902. 2
485584105903. 3
485584105904. 4

Question Number : 177 Question Id : 48558426477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who was the first Indian Nobel Laureate?

1. Dr. C.V Raman

(2=

. Dr. 8. Radha Krishnan
3. Rabindranath Tagore
4. 8 N. Bose

Options :

485584105905. 1
485584105906. 2
485584105907. 3
485584105908. 4

Question Number : 177 Question Id : 48558426477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Alae REHR U S arall Wl YR S 41?7
1 gt T

.1 TH. AYIPUH
ATy SR

[ 2]

LN

s

Options :

485584105905. 1
485584105906. 2
485584105907. 3
485584105908. 4

Question Number : 178 Question Id : 48558426478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who fought the battle of Tarain and won twice against Mohammad Ghori?

1. Maharana Pratap

)

. Jai Chand
3. Rana Sangram Singh
4. Prithviraj Chauhan

Options :

485584105909. 1
485584105910. 2
485584105911. 3
485584105912. 4

Question Number : 178 Question Id : 48558426478 Question Type : MCQ Option Shuftling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

WIS P11 g fbur ae1 auT Ieue 1N & favs o oR fasm ara oh

1. HeRIUIT ¥d9

2]

. STEg
QRIS 6T
Options :

485584105909. 1
485584105910. 2

485584105911. 3
485584105912. 4

aa

dea

Question Number : 179 Question Id : 48558426479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following Mughal rulers set up a new religion called Din-i-Ilahi?
1. Aurangzeb
2. Humayun
3. Akbar
4, Shah Jahan
Options :
485584105913. 1

485584105914. 2
485584105915. 3



485584105916. 4

Question Number : 179 Question Id : 48558426479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fFrafeiad & 9 foou gua Qe - SH-U-garg! FHd 9U o4 B RIhA1 31
1. TS

e

- B,

3. APdR

[ 2]

a

4. TMgIgl

Options :

485584105913 1
485584105914. 2
485584105915. 3
485584105916. 4

Question Number : 180 Question Id : 48558426480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

C.V. Raman got Nobel Prize in 1930 for his discovery of:
1. Research into the nature of chemical bonding
2. Raman Effect
3. Studies of the Photoelectric Effect
4. Discovery of the Phenomenon of Radioactivity

Options :

485584105917. 1
485584105918. 2
485584105919. 3
485584105920. 4

Question Number : 180 Question Id : 48558426480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




1. a1, 0 B FA! T WIS & folg 1030 H Fied [REHR U g3il?
1. IS 4l B Ybid & favy § g
2. A YHE

3. UPIITASYe WHIT BT 3T
4. 352 aftfan 1 uRegeT $1 @

Options :

485584105917. 1
485584105918. 2
485584105919. 3
485584105920. 4

Question Number : 181 Question Id : 48558426481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The book titled "Exam Warriors" is written by:
1. LK. Advani
2. P. Chindambaram
3, Jairam Ramesh

4, Narendra Modi

Options :

485584105921. 1
485584105922. 2
485584105923. 3
485584105924. 4

Question Number : 181 Question Id : 48558426481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

"TIATH TN TS [P & A B 87
1. T, &. Sfrsari

. ey

3, STERTH T

4. T HIE

Options :

485584105921. 1
485584105922.2
485584105923. 3
485584105924. 4

[



Question Number : 182 Question Id : 48558426482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tustice DY Chandrachud has become the new Chief Justice of India?

Options :

485584105925. 1
485584105926. 2
485584105927. 3
485584105928. 4

Question Number : 182 Question Id : 48558426482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A S1.ars. 95ds, YRd & T g I e MU B
1.55d
507

[ S

3.4549
4.524d

Options :

485584105925. 1
485584105926. 2
485584105927. 3
485584105928. 4

Question Number : 183 Question Id : 48558426483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
The lies above the mesosphere?

1. Troposphere

[

. Thermosphere
3. Exosphere
4. Stratosphere

Options :



485584105929. 1
485584105930. 2
485584105931. 3
485584105932. 4

Question Number : 183 Question Id : 48558426483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

O Hed ¥ SR QT gl

1. eiyHsd

b

GIEEES
_aigHsd

4. gOdgHSE
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Options :

485584105929. 1
485584105930. 2
485584105931. 3
485584105932. 4

Question Number : 184 Question Id : 48558426484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Lalit Kala Akademi, the National Academy of Art. was set up in

1. 1968

k3

. 1964

LF5]

. 1954

4. 1951

Options :

485584105933. 1
485584105934. 2
485584105935. 3
485584105936. 4

Question Number : 184 Question Id : 48558426484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




qferd el SPTedl, 5 AP e TR ©. B W 59 532
1. 1968
2.1964

. 1954

LS

4. 1951

Options :

485584105933. 1
485584105934. 2
485584105935. 3
485584105936. 4

Question Number : 185 Question Id : 48558426485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘What is the prescribed strength of judges in the constitutional bench of supreme Court?

1. 2 Judges

b2

. At least 5 Judges

4. 4 judges

Options :

485584105937. 1
485584105938. 2
485584105939. 3
485584105940. 4

Question Number : 185 Question Id : 48558426485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

gt ey & Saue s § e & fea gen FuiRa et e 2
1. 2 TR

. HH I HY 5 e

2]

3.3 I
4. 4 =TT

Options :

485584105937. 1
485584105938. 2
485584105939. 3
485584105940. 4

Question Number : 186 Question Id : 48558426486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
White revolution refers to 2

1. Cotton textile Industry

b2

. Marble Industry
3. Cement Industry
4. Dairying

Options :

485584105941. 1
485584105942. 2
485584105943. 3
485584105944. 4

Question Number : 186 Question Id : 48558426486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

5 il forer Halferd g2
1. UM a3 3N

. f <

3 0 f

4. TR T
Options :
485584105941. 1
485584105942. 2

485584105943. 3
485584105944. 4

=]

Question Number : 187 Question Id : 48558426487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List I with List 1T

LISTI LISTI
Mineral States
A |Coal I. [Madhva Pradesh
B. |Gold II. |Gujarat
C. Diamond 111 [Chattisgarh
D. [Petrolzum IV. [Karnataka

Choose the most appropriate answer from the options given below:
1. A-IIL, B-I, C-II, D-IV
2. AL B-TV, C-11, D-1
3. AL B-IV, C-1, D-II
4. A-IV, B-TIL, C-1, D-TI

Options :

485584105945. 1
485584105946. 2
485584105947. 3
485584105948. 4

Question Number : 187 Question Id : 48558426487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

i 1 D1 I 11 ¥ e Py
T 1 T 1T

N EEE] L (A R

i 1L [I5_1d
TR 111 [&dTe

Ueiferan IV [@dled
Feead faedl § ¥ Hgl ) 1 99 DIl :

1. A-IIL B-IL, C-II. D-IV

CIGIEIE

2. A-IIL, B-IV, C-II, D-I

(¥

. AL B-IV, C-I, D-II
4. A-IV, B-III, C-I, D-II

Options :

485584105945. 1
485584105946. 2
485584105947. 3
485584105948. 4

Question Number : 188 Question Id : 48558426488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

MCQ

Comprehension




Largest salt water inland lake of India, which provides sanctuary to lakhs of Migratory Birds during winter?

1. Pachpadra Lake

b3

. Chilika Lake

LFS]

. Pangong Lake
4. Lomar Lake

Options :

485584105949. 1
485584105950. 2
485584105951. 3
485584105952. 4

Question Number : 188 Question Id : 48558426488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

YRd D1 TG TS GR U] drell 98 STaRe s, ol Jfiderd § aral vari ulémi &1 naRog ueE Sl 8, iF H 82
EECIE
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Options :

485584105949. 1
485584105950. 2
485584105951. 3
485584105952. 4

Question Number : 189 Question Id : 48558426489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
The first vice-President of India was 7

1. Dr. S. Radha Krishnan
2. Dr. Zakir Hussain

3, C. Rajagopalachari

4. Krishan Kant

Options :

485584105953. 1
485584105954. 2
485584105955. 3
485584105956. 4

Question Number : 189 Question Id : 48558426489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

YRA & YYH FU-IFUR I 242
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(3]
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Options :

485584105953. 1
485584105954.2
485584105955. 3
485584105956. 4

Question Number : 190 Question Id : 48558426490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
'Shramev Jayate' scheme was announced on by GOL

1. 10 October, 2013

(2=

. 16 October, 2014
3. 12 October, 2012
4. 13 October, 2015

Options :

485584105957. 1
485584105958. 2
485584105959. 3
485584105960. 4

Question Number : 190 Question Id : 48558426490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

YR ISR §RT YT ST IS B 9ivon H g o1 75 4o

1. 10 IR, 2013

9]

.16 3facdy, 2014
3,12 3{dcey, 2012
4. 13 3f9cay, 2015
Options :

485584105957. 1
485584105958. 2



485584105959. 3
485584105960. 4

Question Number : 191 Question Id : 48558426491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Forest cutting is desirable from the point of view of soil erosion.
Reason R : Cutting of forests reduces the interception of rain water.
In the light of the above statements, choose the correcr answer from the options given below.
1. Both A and R are true and r is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
Options :
485584105961. 1
485584105962. 2

485584105963. 3
485584105964. 4

Question Number : 191 Question Id : 48558426491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A A FUARU T E : TP HUBUT (Assertion A) F T 1 [I1Ed T Il TR 3HF BRI (Reason R) & AT
SHHBYA A : HaT UG & TRBIV Y il & Ble &I HaGHdl 6|
BRI R : T &1 DIeA 4 a9 & ofel P STRIGRIT HH g o1l o
IR BUF o7 3ATAIF 1, A1 12U [ddheq] § U ol 3= &1 909 I -
1. AR REM I & JR R, AP H6l TR ©
2. ASRREAIIUE 3R R, A DI TE! ourRed T8l g

3. ATTE. Ol R 3T ®

4. A SIS, APIRIAR

Options :

485584105961. 1
485584105962. 2
485584105963. 3
485584105964. 4

Question Number : 192 Question Id : 48558426492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

Find the odd one out from the given series
3, 12,27, 48, 76, 108

1.27

b2

.48
3.76
4. 108

Options :

485584105965. 1
485584105966. 2
485584105967. 3
485584105968. 4

Question Number : 192 Question Id : 48558426492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A7 sjrer # o ged e 2 S0 g B
3.12, 27,48, 76, 108
1.27
2.48
3.76
4. 108
Options :
485584105965. 1
485584105966. 2

485584105967. 3
485584105968. 4

Question Number : 193 Question Id : 48558426493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose that set of numbers from the four alternative setg, that is similar to the given set.

Given set: (265, 392, 285)

—

. (373, 472, 366)

&

(343, 482, 360)

L)

(363, 482, 361)
4, (373, 482, 366)

Options :



485584105969. 1
485584105970. 2
485584105971. 3
485584105972. 4

Question Number : 193 Question Id : 48558426493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T3 & fooferd Ig=i 8 9 A foU T 9=0 & 90=1 &1 999 D1
e T =y - (265, 392, 285)

1. (373, 472, 366)

b

. (343, 482, 360)

aa

(363, 482, 361)
4. (373,482, 366)

Options :

485584105969. 1
485584105970. 2
485584105971. 3
485584105972. 4

Question Number : 194 Question Id : 48558426494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If some word are coded from artificial language, like
"Botlo Pono" means Drink water
"March pono" means chew water
"Pono ajebo” means save water
Which code could mean "Save Drink"?
1. Botlo ajebo
2. Botlo pono
3. Pono ajebo
4. Maroh Botle
Options :
485584105973. 1
485584105974. 2

485584105975. 3
485584105976. 4

Question Number : 194 Question Id : 48558426494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension [MCQ

fepdil PiAT UINT U O Yea] DI 586 TbR forar 737
"Botlo Pono" 3U[d Drink water
"Maroh pono" H Ufd chew water
"Pono ajebo” H T save water
g P I H ¥ "Save Drink" E?ETH
1. Botlo ajebo

2. Botlo pono

L¥F)

. Pono ajebo

4. Maroh Botlo

Options :

485584105973. 1
485584105974.2
485584105975. 3
485584105976. 4

Question Number : 195 Question Id : 48558426495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If today is saturday, then day after 53 days will be:

1. Friday

b

. Monday

LoF)

. Tuesday
4. Wednesday

Options :

485584105977. 1
485584105978. 2
485584105979. 3
485584105980. 4

Question Number : 195 Question Id : 48558426495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




gfe 3 IfaR B, f 53 7 & a7 Iwe o1 oH 91 e sm

1. {EhAR
AR

bJ

%
4. AR

Options :

485584105977. 1
485584105978. 2
485584105979. 3
485584105980. 4

Question Number : 196 Question Id : 48558426496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Akshay is the son of Kapil. Simar, Kapil's sister, has a son Montu and daughter Sara. Pawan is the maternal uncle of Montu. How is
Akshay related to Mentu?

1. Sister-in-law
2. Mother

3. Sister

4. Cousin

Options :

485584105981. 1
485584105982. 2
485584105983. 3
485584105984. 4

Question Number : 196 Question Id : 48558426496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Hery, HIUe BT e g, PIUA B 967 TR &1 Y7 Hig aul T URI S| U6, TI=g &1 01 51 316 B 1= & 91y o 9ae 87
1. 7%

e

2.H1

LS5

|
4. TRIUE

Options :

485584105981. 1
485584105982.2
485584105983. 3
485584105984. 4



Question Number : 197 Question Id : 48558426497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many tites in a day hour hand and minute hand of a clock will coincide?
1. 24 times
2. 22 times

. 44 times

LF 5]

4. 48 times

Options :

485584105985. 1
485584105986. 2
485584105987. 3
485584105988. 4

Question Number : 197 Question Id : 48558426497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U 37 1 fpa-t aR gst o1 62 31 s qul fiFe 3t 98 te g3 W srsifed gl 82

12449

[ 2]

J228R
344491
4,489

Options :

485584105985. 1
485584105986. 2
485584105987. 3
485584105988. 4

Question Number : 198 Question Id : 48558426498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find the alternative which containg figure (A) as its part.

(A)

E

[]
<

Options :

485584105989. 1
485584105990. 2
485584105991. 3
485584105992. 4

Question Number : 198 Question Id : 48558426498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fowedl 7 @ 59 fog &1 7 ome i (A) T v 21

(A)

:

[]
AN

Options :

485584105989. 1
485584105990. 2
485584105991. 3
485584105992. 4

Question Number : 199 Question Id : 48558426499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find out which of the answer figures (A), (B). (C) and (D) completes the figure matrix

5
X

o~J

A

X

(A) (B) (&) (D)

3.C
4.D

Options :

485584105993. 1
485584105994. 2
485584105995. 3
485584105996. 4

Question Number : 199 Question Id : 48558426499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

famed & fau feml (1), (2), (3) quT () & 9 14 1 ot faw 77w Foamy o &1 g vl 22

X
AA ?

X

(A) (B) ©) (D)



Options :

485584105993. 1
485584105994. 2
485584105995. 3
485584105996. 4

Question Number : 200 Question Id : 48558426500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the alternative which most closely resembles the mirror image of the given combination.

SACRIFICE4
L4HCIHAACS
AADIATADAZ
BFHDIATACAZ
4SADAIHICEA4

[55]

w2

Options :

485584105997. 1
485584105998. 2
485584105999. 3
485584106000. 4

Question Number : 200 Question Id : 48558426500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
2 fau e daeH § waffte ga @ gu g o &1 909 i)
SACRIFICE4

L4dJCITAACS

2RHADIHAIADAZ
pHDIAIACAR
ASADIAITHTICE4

Options :

485584105997. 1
485584105998. 2
485584105999. 3
485584106000. 4

Question Number : 201 Question Id : 48558426501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Find the missing term which can be filled at "?" place
1.3, %, 22; 67, 2 1077
1.269

2.263

4. 267

Options :

485584106001. 1
485584106002. 2
485584106003. 3
485584106004. 4

Question Number : 201 Question Id : 48558426501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprchension MCQ

Y TS 98 & W TR 3 ad I37d U &) 71d B

1.269

2]

. 263
3.362
4. 267

Options :

485584106001. 1
485584106002. 2
485584106003. 3
485584106004. 4

Question Number : 202 Question Id : 48558426502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find out which option figure resembles the pattern formed when sheet is folded along the dotted line?

j.c
4.D

Options :

485584106005.
485584106006.
485584106007.
485584106008.

B W N~

Question Number : 202 Question Id : 48558426502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e 1 fegfrd Y@ 9 0Ig 1§74 aTe Ue 9 O @rd gU 93 &1 1 a3

3.c
4.D

Options :

485584106005. 1
485584106006. 2
485584106007. 3
485584106008. 4



Question Number : 203 Question Id : 48558426503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Study the following information and answer the question given below:
A family has 5 members P, Q, R, S and T, each have a different weight.

1. P weighs twice as much as Q

11. Q weighs four and a half times ag much as R
iii. R weighs half as much as §
iv. § weighs half as much as T

v. T weighs less than P but more than R

Which of the following member of a family is the lightest in weight?

1.

e}

2.Q
R

4.8

Options :

485584106009. 1
485584106010. 2
485584106011. 3
485584106012. 4

Question Number : 203 Question Id : 48558426503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

19 &1 718 TSR B 9g U1 U T WYl & I
U5 URGR T 5s 5P, Q. R, S AUTT &1 AP T YR g |

L PHIUYR QU I B
ii. Q BT UR R ¥ HI¢ IR 0 34U 3|
HLRPBTHUR S T UG
. SHIHR T Y M|
v TH YR PI T PR T T 21

49 feu v oRoR & 37 Yo § O f[$aeT YR el ®H g0

1.

o

[ 2]

-Q
R
4.8

Options :

485584106009. 1
485584106010. 2
485584106011. 3
485584106012. 4



Question Number : 204 Question Id : 48558426504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Rinki ranked 10% from the top and 28" from the bottom in a class. How many students are there in the class?
127

2:37

4. 39

Options :

485584106013. 1
485584106014 2
485584106015. 3
485584106016. 4

Question Number : 204 Question Id : 48558426504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

G R R KA R R R B TR NS i R s R e e Ao A T E R e
127

2. 37

(¥
Taa
(o]

4. 39

Options :

485584106013. 1
485584106014. 2
485584106015. 3
485584106016. 4

Question Number : 205 Question Id : 48558426505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Six persons A, B, C, D, E. and F are sitting in two rows with three persons in each row. People of both the rows are facing each other. E i3
not at the end of any row. D is second to the left of F. C is the neighbour of E and diagonally opposite to D. B is the neighbour of F. Who
is in front of F?

1.A

[
lne]



Options :

485584106017. 1
485584106018. 2
485584106019. 3
485584106020. 4

Question Number : 205 Question Id : 48558426505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

©: Tl A, B. C, D, E, GUI F 31 Ufddl ¥ 58 UoR &8 € 1 alHl Ufdd H fo fo= aafda € Sik 2 dfd & auifedd T g o1 iR®
&@ e ¢ E fardl ol dfda & ofa 9 981 9611 F & 91 R g9k ®IM W D §61 g1 C.E $1USII § aUID & fauia: ¥ 94 38131
B.FHIUSH! 81 FHF IHABHEE?

LA
Z2.B

5

a2

4.D

Options :

485584106017. 1
485584106018. 2
485584106019. 3
485584106020. 4

Question Number : 206 Question Id : 48558426506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Among four answer figures which one can be formed from the cut out pieces given below:

)/

(a) (b) (] (d)

b
o

4.d

Options :
485584106021. 1
485584106022. 2



485584106023. 3
485584106024. 4

Question Number : 206 Question Id : 48558426506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

=2 feu U g st g, fawedl & faar o o W fom 99 wea 2

)/

(2) (b) (<) (4

!\_J
o

4.d

Options :

485584106021. 1
485584106022. 2
485584106023. 3
485584106024. 4

Question Number : 207 Question Id : 48558426507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the assumption which is implicit in context of the given statement.
Statement-" Z- perfume is ideal as a gift for someone you love" - An Advertizsement
Assumptions
I. People generally give gifts to loved one.
II. Such advertisements generally influence people.
III. Perfume can be considered as a gift item.
Choose the most appropriate answer from the options given below:

1.1 and II are implicit

2.1 and III are implicit

L)

. All are implicit
4. 11 and III are implicit

Options :

485584106025. 1
485584106026. 2
485584106027. 3
485584106028. 4

Question Number : 207 Question Id : 48558426507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

39 qaiAE &1 97wt fRu M sy & gy B fAfga g
P - ToT ST R Bl § 99 3 & 1Y 2- 35 U 3M1ax SUSR &' | U famn

gaigae

L @ if¥ieaR 3 i &l 31 SUeR S0 €
11, T¥ fasToe WreTga: 9FT &1 9uIfad Hed ¢
111, § 1 U SUER ¥ &l W1 arell T a¥g 01 & 9l 6 |

= feu e fam el 5 9 9ad Sugad ST &1 99 BT
1. 19U 11 Ffga

Taurm Figa gl

qeft Ffga 81

4. au m FRRA gl

Options :

485584106025. 1
485584106026. 2
485584106027. 3
485584106028. 4

(]

LV

Question Number : 208 Question Id : 48558426508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key |Value




[Comprehension [MCQ

Which of the given conclusions logically follows the given two statements.
Statements
All apples are Banana
No Banana is Grape
Some Grape are Orange
Conclusions
I. Some Banana are Orange
II. No Apple is Orange
I1I. All Banana are Orange is a possibility
1. Only I follow

2. Only II conelusion follow

LFS]

. Only III follow
4. All conclusion follow

Options :

485584106029. 1
485584106030. 2
485584106031. 3
485584106032. 4

Question Number : 208 Question Id : 48558426508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106029. 1
485584106030. 2
485584106031. 3
485584106032. 4

Question Number : 209 Question Id : 48558426509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In a certain code, 'lee ra de' means 'Upanishads are it', 'mo nil' means "you read'. 'nil pom ra’ means 'you like it' and 'tok lee fo' means 'They
are immortal' How will you write ‘Upanishads you like’ in that code?

1. de nil pom
2.denilra

3. mo nil pom
4. nil tok lee

Options :

485584106033. 1
485584106034. 2
485584106035. 3
485584106036. 4

Question Number : 209 Question Id : 48558426509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In Ud Fﬁ 'lee ra de' T 3 % "Upanizhads are it, 'mo nil' T S{QT% 'you read'. 'nil pom ra’ dT 3{??% 'you like it' dYT 'tok lee fo' Pl S{‘QT%
'They are immortal'| al "Upanishads you like' 4 forar s

1. de nil pom
2. denilra
3. mo nil pom

4. ml tok lee

Options :

485584106033. 1
485584106034. 2
485584106035. 3
485584106036. 4

Question Number : 210 Question Id : 48558426510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




At what time between 4 o' clock and 5 o' clock hour hand and minute hand will coincide?

[ 2]
i
ta
I

Options :

485584106037. 1
485584106038. 2
485584106039. 3
485584106040. 4

Question Number : 210 Question Id : 48558426510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

4.00 91 9 5.00 §9 DI &1 U5 DI 77 TUTYE DI g1 [+ 961 U TR TR ST=1ad Bl

1.4:182
11

2.4:22i
11

3.4:213
11

-1.4:23i
11

Options :

485584106037. 1
485584106038. 2
485584106039. 3
485584106040. 4



